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QUESTION 1

Examine these statements: 
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Which two are true? (Choose two.) 
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A. Neither table will have a row inserted and committed. 

B. Both tables will have a row inserted and committed. 

C. The transaction for the bank_activity_proc is independent of the bank_transaction_proc. 

D. The bank_activity_proc will not compile because of the commit. 

E. Only one table will have a row inserted and committed. 

Correct Answer: CE 

 

QUESTION 2

Which two statements are true about the RETURNING clause when used with DML? (Choose two.) 

A. When using the RETURNING INTO clause, the data returned can be only single column or expression. 

B. The RETURNING INTO clause and bulk binds may not be used together. 

C. The RETURNING INTO clause can be used with DML that affects multiple rows, if the BULK COLLECT clause is
used. 

D. The RETURNING INTO clause returns column values for rows affected by DML statements. 

E. The RETURNING clause can be used for remote or parallel deletes. 

Correct Answer: CE 

 

QUESTION 3

Which block of code displays the error message "Incorrect price value"? 
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A. Option A 

B. Option B 
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C. Option C 

D. Option D 

Correct Answer: B 

 

 

QUESTION 4

Which two are valid MODIFIER values for the PLSQL_WARNINGS parameter? (Choose two.) 

A. DISABLE 

B. ENABLE 

C. ERROR 

D. ALL 

E. SEVERE 

Correct Answer: DE 

 

QUESTION 5

Examine this statement which executes successfully: 

SQL> SET SERVEROUTPUT ON; 

Now, examine this code which is executed: 
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What is true about the result? 

A. It returns an error in line 2. 

B. It returns an error in line 4. 

C. It returns an error in line 9. 

D. It executes and displays output. 

Correct Answer: B 
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